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OQHXNYE =HEN sI&EX S 7
500 * 10,000kg 5,000
303 ZA& 2 35,000 0 35,000
01 ZLAZ 35,000 0 35,000
OgsHIIs =&EHAUE
2,500,000& = 140 ™ 35,000
401 Al EHI L 204 HI 69,000 69,000 0
01 Al&H| 69,000 69,000 0
SASMY D HEH DD &I 2 Z A
700,000& = 3004 21,000
OZelotA & 48,000
— SeoIA X2 &X
20,000,000 * 202 40,000
— NI &H| 1,500,000& = 20 A 3,000
— 225l A Jtolcet Xl
2,500,000 = 200 A 5,000
Mes sy oty 84X A 75,000 75,000 0
= 37,500
=} 15,000
= 22,500
401 Al HI L £ 0HHI 75,000 75,000 0
= 37,500
= 15,000
= 22,500
01 Al& H| 75,000 75,000 0
OMEE =S4I0IYE AXXH 75,000,000 75,000
= 37,500
& 15,000
= 22,500
SZHHIE =HEANZ 451,266 371,000 80,266
= 33,500
= 22,794
= 394,972
301 et A= 451,266 371,000 80,266
= 33,500
= 22,794
= 394,972
12 JIEtE2 A= 451,266 371,000 80,266
OY9=sHIIZE2 +HBAH(HHY &)
451,266,000 451,266
= 33,500
= 22,794
= 394,972
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M HIIE AHEs 2 Hel
&?: UHFMHEE (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Hess d8A4 &3 78,127 38,127 40,000
201 £B-2d| 48,127 38,127 10,000
01 At 22l 12,107 12,107 0
Oget==EH| 12,107
—He8s AYES (2L .4 .92 &) 2
& 0,000& = 5& = 43| 1,400
—MHEs8E 2548 7Y 2,700& * 1,500kg 4,050
—NessE BAELU(EY) 2
10,000& * 1004 1,000
—HEEZ W2 2HE ==2
500,000& * 6IH S 3,000
—HIIIEE =2
192,720& = 3 A& = 23] 1,157
—EEZ (M, 0tAT 5) 7Y
1,500,000 1,500
02 =224l 36,020 26,020 10,000
OA&EHl s Xl 25,000
—MHEs8E HEI] RANE*
1,000,000& * 5& * 23| 10,000
—UHEHIIE M2AE SN2
1,000,000 * 53| 5,000
—SctAE & M LRI RAES
2,500,000& * 28 * 23 10,000
OXtg & et 11,020
—EdH, NAX RFH
1,300& = 30£ * 180€ 7,020
— EdH, XAX ==cldl 2,000,000& = 2CH 4,000
401 Al HIZ 201 I 30,000 0 30,000
01 Al tl 30,000 0 30,000
O&l A& A 30,000
~ MEMYIIHR ALS WRSLZA &
HEA 30,000, 000& 30,000
ZsyotY 25 X 70,000 10,000 60,000
= 7,500
< 7,500
e 55,000
401 Al HIZ 201 8] 70,000 10,000 60,000
= 7,500
< 7,500
s 55,000
01 A& HI 70,000 10,000 60,000
OHdlg dotE &I 10,000,000& * 7JH £ 70,000
= 7,500
< 7,500
s 55,000
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SH: BHAMD
M BN
el MBI BuL Be (sl &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 52,500
< 15,750
= 36,750
Flofoe 2229 200 200 0
= 100
< 100
201 £B-2dH| 200 200 0
= 100
< 100
01 At 22l 200 200 0
O RAMES =HIAHI 100,000& *» 20 & 200
= 100
< 100
HE2LZH (BZ A0 56,280 46,024 10,256
Jl2dd(s+Z M) 56,280 46,024 10,256
Jl2dyl(2Z2AM) 56,280 46,024 10,256
201 £BH2d| 33,100 26,224 6,876
01 At 22l 33,100 26,224 6,876
O el 10,000, 000& 10,000
O= &l 7,000& * 259 « 11 ~ 123 23,100
202 O4dl 15,000 13,800 1,200
01 = LHA YI 15,000 13,800 1,200
OJl2gesd 50,000& = 259 » 12& 15,000
203 R =&Yl 4,980 4,800 180
04 FN2ELRZ=TH| 4,980 4,800 180
ORAN2EIRFEHI 415,000& = 123 4,980
204 M R=HAH| 1,200 1,200 0
01 HES TP A 1,200 1,200 0
OXM GRS A H| 100,000& * 128 1,200
405 XH&HF S HI 2,000 0 2,000
01 XA 2 ZF S| 2,000 0 2,000
OARa ¢&dn 2¢ 1,000, 000& 1,000
OMEda37 7¢ 1,000,000& 1,000
HREs(2HE <4 571,195 362,472 208,723
HWEAHH KIS (2Z 240 571,195 362,472 208,723
HEHAXI S (SZ 24D 571,195 362,472 208,723
701 JIEISI HSHES 503,695 300,472 203,223
01 JIEtSIHE &3 503,695 300,472 203,223
Ox=ZMEEEINH HES 503,695,000 503,695
702 JISEEZS 67,500 62,000 5,500
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